

نام و نام خانوادگی علی حبیبی پاسخنامه تشریحی تکلیف شماره ۱۵ کلاس پسر	
$S_r = \frac{r}{r} (a_1 + a_r) = 21$ $\sqrt{(a_1 + a_r)^2} = 94 \Rightarrow (a_1 + a_r)^2 = 4 \cdot 94 \Rightarrow a_1 + a_r = \sqrt{4 \cdot 94} = 19$ $(a_1)^2 = 94 \Rightarrow a_1 = 4$ $\Rightarrow \begin{cases} a = -2 \rightarrow -2, 4, -1 \Rightarrow q = -2 \\ a = 2 \rightarrow 2, 4, 1 \end{cases}$ $q \notin \mathbb{W}$	۱
$a_n = x^2 + 4, 5x, x^2 - 2 \quad (x^2 + 4)(x^2 - 2) = 5x^2 \Rightarrow x^4 + 2x^2 - 8 = 5x^2 \rightarrow x^4 - 8 = 3x^2 \rightarrow (x^2 - 2)x^2 = 8$ $\Rightarrow x^2 = 4 \Rightarrow x = \begin{cases} -2 \rightarrow 1, -4, 2 \Rightarrow q = -2 \\ +2 \rightarrow 1, 4, 2 \Rightarrow q = 2 \end{cases}$ $q \neq 0$ $\Rightarrow S_v = a_1 \left(\frac{1 - q^n}{1 - q} \right) = 1 \left(\frac{1 - 141}{1 - 2} \right) = 1 \times 141 = 141$	۲
$1 + q + q^2 + q^3 + q^4 = \frac{141}{11} \quad a_1 = 243$ $a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 \left(\frac{1 + q + q^2 + q^3 + q^4}{\frac{141}{11}} \right) = \frac{243}{11} \times \frac{141}{11} = 363$	۳
$t_v = 94 \quad t_1 = 1 \Rightarrow 9d = 92 \Rightarrow d = 10, 2 \quad t_4 = A = t_1 + 3d = 1 + 3 \cdot 10 = 31, 0$ $a_v = 94 \quad a_1 = 1 \Rightarrow q^2 = 94 \Rightarrow q = \pm 2 \Rightarrow a_4 = B = t_1 q^3 = \begin{cases} 1 \times (-8) = -8 \\ 1 \times 8 = 8 \end{cases}$ $\Rightarrow A + B = \begin{cases} 31, 0 + 8 = 39, 0 \\ 31, 0 - 8 = 23, 0 \end{cases}$	۴
$t_n: -24, -\frac{90}{r}, \dots \Rightarrow d = -\frac{90}{r} - (-24) = \frac{1}{r} \Rightarrow t_{1,1} = -24 + 1 \cdot d = -24 + 25 = 1$ $a_n: 141, a_2, \dots \rightarrow a_1 = 141 \cdot q^4 = 1 \Rightarrow q^4 = \frac{1}{141} \Rightarrow q = \frac{1}{r}$	۵

$t_r, t_v, t_1 = a, a_r, a_v$ $\xrightarrow{xq}$ $(t_1 + vd)^r = (t_1 + rd)(t_1 + \lambda d) \rightarrow \cancel{t_1^r + 1 \cancel{r} t_1 d + \cancel{r} d^r} = \cancel{t_1^r + 1 \cancel{r} t_1 d + 1 \cancel{d}^r} \Rightarrow r t_1 d + r \cdot d^r = 0 \quad d \neq 0$ $r t_1 = -r \cdot d$ $\Downarrow$ $d = -\frac{1}{r} t_1$	6
$t_r, t_f, t_\lambda = a_n, a_{n+1}, a_{n+r}$ $\Rightarrow (t_1 + rd)^r = (t_1 + d)(t_1 + vd) \rightarrow \cancel{t_1^r + r t_1 d + r d^r} = \cancel{t_1^r + 1 t_1 d + v d^r} \Rightarrow r d^r = r t_1 d$ $d \neq 0$ $\hookrightarrow r d = r t_1 \Rightarrow d = t_1 \Rightarrow a_n, a_{n+1}, a_{n+r} = r t_1, r t_1, r t_1 \Rightarrow q = \frac{r t_1}{r t_1} = r$ $\underline{q=r}, a_1 = \frac{1}{r}, a_{10} = a, q^9 = \frac{1}{r} \times r^9 = r^8 = 128$	7
$r a_r, r a_f, a_f = t_1, t_r, t_v \Rightarrow \frac{r a_1 q + a_1 q^r}{r} = r a_1 q^r \Rightarrow r a_1 q + a_1 q^r = r a_1 q^r$ $\underline{q \neq 0} \Rightarrow r a_1 + a_1 q^r = r a_1 q \rightarrow a_1 (r + q^r) = r a_1 q \xrightarrow{a_1 \neq 0} r + q^r = r q \rightarrow q^r - r q + r = 0$ $= (q-1)(q-r) = 0 \Rightarrow q = \begin{cases} r \\ 1 \end{cases}$	8
$t_n = r, \frac{v}{r}, \dots \Rightarrow d = -\frac{1}{r} \Rightarrow t_f = r + r \times (-\frac{1}{r}) = \frac{0}{r}, t_\lambda = r + v \times (-\frac{1}{r}) = \frac{1}{r}, t_{1r} = r + 1 \times (-\frac{1}{r}) = -1$ $\frac{0}{r} + x, \frac{1}{r} + x, -1 + x = a_1, a_r, a_v \Rightarrow (\frac{1}{r} + x)^r = (\frac{0}{r} + x)(-1 + x) \rightarrow \cancel{\frac{1}{r^r} + \frac{1}{r} x + x^r} = \cancel{x + \frac{1}{r} x - \frac{1}{r^r}}$ $\rightarrow \frac{1}{r} x + \frac{1}{r^r} = 0 \Rightarrow x = -\frac{1}{r}, r \neq 0 \Rightarrow q = \frac{\frac{1}{r} - \frac{1}{r}}{\frac{0}{r} - \frac{1}{r}} = \frac{-\frac{1}{r}}{-\frac{1}{r}} = \frac{r}{1} = \frac{0}{r}$	9
$a_1, a_f, a_v = t_1, t_r, t_{10} \Rightarrow t_r^r = t_1 \times t_{10} \rightarrow (t_1 + d)^r = t_1 \times (t_1 + d) \rightarrow \cancel{t_1^r + r t_1 d + d^r} = \cancel{t_1^r + r t_1 d}$ $\underline{d \neq 0} \Rightarrow d = v t_1 \rightarrow t_1 + t_r + t_{10} = v r = t_1 + r t_1 + r^2 t_1 = v r t_1 \Rightarrow t_1 = 1 \Rightarrow d = v \times 1 = v$	10